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QUESTION 1

What does the Terasort phase of the Terasort benchmark do?

A. It maps and reduces source data in a parallel manner, leveraging data locality to minimize network transfer.
B. It randomly maps source data and reduces output to a smaller data set,

C. It maps and reduces one terabyte of data into a smaller data set.

D. It randomly maps source data and increases output to a bigger data set.

Correct Answer: B

QUESTION 2

Which two options are valid when configuring health check policies in Oracle Cloud Infrastructure (OCI) Load
Balancing?

A. FTP level health checks
B. TCP level health checks
C. UDP level health checks
D. HTTP level health checks

Correct Answer: BD

QUESTION 3

Which Statement Is NOT correct?

A. Oracle Data Science is augmented with Al VM for Data Science.
B. Oracle Data Science Is not excluded from Universal Credit.

C. Oracle Data Science can integrate with Oracle Function.

D. Oracle Data Science does not support per second billing.

Correct Answer: C

QUESTION 4
You are architecting the infrastructure for a file system.

What are the different criteria you should use, and in what order to build a filesystem for optimal performance?
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A. Network Bandwidth > Number of Compute Cores/RAM > Storage
B. Storage > Network Bandwidth > Number of Compute Cores/RAM
C. Number of Compute Cores/RAM > Storage > Network Bandwidth
D. Network Bandwidth > Storage > Number of Compute Cores/RAM

Correct Answer: A

QUESTION 5

A customer ran a Job on 2 BM.HPC2.36, and the job took 4 hours using 32 cores of each node. They later ran on 4
nodes and the Job took 3 hours. What Is the efficiency gained?

A. 100%
B. 50%
C. 66%
D. 75%

Correct Answer: B

QUESTION 6

You\l've spun up a GPU instance with the standard OEL linage (GPU version) from the console network on Oracle
Cloud Infrastructure (OCI).

What action do you need to do In order to be able to visualize your desktop remotely?
A. Install Open MPI for distributed GPU access.

B. Install a desktop and a VNC server.

C. Install NVIDIA drivers.

D. Open a remote serial console.

Correct Answer: C

QUESTION 7

Which benchmark is important to a customer when considering Olg Data workloads on Oracle Cloud Infrastructure
(ocn?

A. TPC-DS

B. TPC-DI
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C.TPC-C
D. Terasort

Correct Answer: B

QUESTION 8

On Oracle Cloud Infrastructure (OCI), a customer wants to build a 3TB filesystem for high IOPS workloads
(like relational databases, small files, etc).

Which action provides the highest IOPS using OCI block volumes for storage?

A. Attach one Block volume of 3TB volume size and use filesystem Block size of 4K.

B. Attach one Block volume of 3TB volume size and use filesystem Block size of 2M or higher.

C. Attach three Block volumes of 1TB each and use filesystem Block size of 2M or higher.

D. Attach three Block volumes of 1TB each and use filesystem Block size of 4K.

Correct Answer: A

QUESTION 9

For customers who want to copy HDFS data from their on-premise Hadoop cluster to Oracle Cloud Infrastructure (OCI),
which three are Oracle supported methods?

A. Distcp

B. Data Transfer Appliance
C. Fast Connect

D. Object Storage

E. GoldenGate

Correct Answer: A

QUESTION 10

What three data sources can Oracle Data Science draw from?
A. Google Cloud Object Storage

B. Autonomous Data Warehouse

C. On-premise Oracle database
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D. Azure Object Storage Blob
E. AWS S3 buckets

Correct Answer: ABC
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